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9T -1/ PART — |
I fer 9 fEnare / CHILD DEVELOPMENT AND PEDAGOGY
fraer : Frfafaa gt & SR 39 & e @9d SR faswed ghm

Direction : Answer the following questions by selecting the most appropriate option.

[3/A]

1.

qrfor &9 G dferd s== % e e
e 1 fR7e IugeRt =il ?

1) omuEe faeEm
2) fafdre forem
3) st fren
4) ot e

frfofag & @ 9-a1 o Req

SRR 1 B 101115 B o S e et [«

g fhuEen & dey ¥ gal

g7

1) OE-UgaM UF ScHh HAI-HIoT
75 B
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7&q ol

3) IE-UeaM UH qetd HHI-9mHiorh
R

4) E-YEAN His FA-GHITE TBY
& @ R

TF gemsd e § fefated § 9
H-41 faQrear 72 3E AR ® ?

1) STEn Ride
2) 3iq ot
3) U= FHUA
4) IR =R

[ Level-3/1311]

Which type of education would be
appropriate for socially deprived
children ?

1) Informal education
2) Special education
3) Inclusive education

4) Religious education

Which of the following statement is
correct regarding adolescence,
under Erikson's Psycho-social
development theory ?

1) Ego-identity is a positive
psycho-social aspect.

2) Ego-identity is a negative
psycho-social aspect.

3) Ego-identity is a neutral
psycho-social aspect.

4) Ego-identity is not just a
psycho-social aspect.

Which of the following characteristic
is not seen in a creative child ?

1) Divergent thinking

2) Extreme curiosity

3) High imaginations

4) Conventional thoughts

P.T.O.



[4/A]

4.
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2) feFES

3) STERHS

4) ITHD

[ Level-3/1311]

4. Which of the following characteristics

does not have a positive effect on the
process of socialization ?

1) Socially approved behaviour
2) Playing approved social roles
3) Development of social attitude

4) Development of social
prejudices

Vygotsky's 'Zone of Proximal
Development' refers to :

1) What the <child can do
independently

2) What the child can't do
independently

3) What the child can do with
guidance of knowledgeable
person

4) What the child can't do even
under guidance of
knowledgeable person

If a learner does not achieved the
expected performance, what type
of testing is done to find out the

reason ?

1) Formative
2) Diagnostic
3) Remedial

4) Summative



1.

‘TN dad e @l ao &l
diftg &t B, afch zaer ot foedr o
= & SR T 81 ot 31”7

e & R & ge ot fhEs
AR IR Il G B )

1) THo Hio Tho 2005

2) Udo Fﬁo éo 3o ?_P[o

3) I

4) e

g wd o & e TeR & aRaad
A g ?

(@) X & MR § qRacd
(b) SR & U # qReA
(c) YU Tl &l faeiia

(d) A faQarett 1 AR
7&l HT B TI BT :

1) (a), () W (c)

2) (a), (b) W (d)

3) (a),(c) W (d)

4) (a), (®), (c) W (d)
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4) WM HEd F FARRK W
T ST ©
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1.

8.

9.

[5/A]

"Inclusion is not confined to the
disabled but it also mean no
exclusion of any child."

This meaning of inclusion in
education has been clarified by :

1) NCF 2005
2) NCERT

3) UNESCO
4) UNICEF

Which type of changes occur in
growth and development ?

(a) Change in body size

(b) Change in body proportion
(c) Disappearance of old features
(d) Acquisition of new features
Choose the correct code :

Code :

1) (@), ®) & (c)

2) (), (D) & (d)

3) (@, (c) & (d)

4) (@, ®), (©) & (9

Which of the following statements
does not explain the positive
impact of motivation on learning ?

1) Motivation
behaviour

impairs learning

2) Motivation provide definite
direction to learning behaviour

3) Motivation energizes learning

behaviour
4) Motivation makes learning
behaviour selective
P.T.O.



[6/A]

10.

11.

12.

[ Level
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1) I gEdHs 8 2
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-3/1311]

10.

11.

12.

Match the stages of morality with
their level, under the Moral
Development theory of Kohlberg :

Stages of Morality Level of
Morality

(@) Good interpersonal I
relations

(b) Individualism and I
exchange

(c) Social contracts and II1
individual rights

(d) Universal principles
Choose the correct code :
Code :

@ ® (@ @
) 1 III II I
2) III II Im 1
3) II 111 I II
4) 1I I Im I

When the learner learns a task
automatically, without any desire
or purpose, then it is called :

1) Massed learning

2) Whole learning

3) Partlearning

4) Incidental learning

Which of the following statement is

not true regarding biological

motives ?

1) They are universal

2) They are inborn

3) They are essential to survival

4) They are not related with
homeostatis in the individual



13.

14.

Frefafed & & a9-@0 Temd &
AR 0 i Hl AR & ?

(a) fofad

(b) A%

(c) RIS

(d) s

7ET HT W T I
%< -

1) (a), (b) W (d)

2) (a), (b) W (c)

3) (a),(c) T (d)

4) (a), (b), (c) W (d)
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1) Todeiss & 99 T J0e9 Th
foroIresT aeror Bl

2) 9ifssd OO Jafede STl
qfe® Ml THR & 8 qhd ol

3) oMfdferd eafed frearest wdteror @i
H THA|

4) FgmiEh TRl H OgRE B A
el wd oTpicRl BT B &
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13.

14.

[7/A]

Which of the

examinations are

following
the basis of

continuous and comprehensive

evaluation ?
(a) Written

(b) Oral

(c) Behavioural

(d) Practical

Choose the correct code :
Code :

1) (@), ®) & (d)

2) (a), () & (c)

3) (a), (c) & (d)

4) (a), (), (c) & (d)

Which of the following statement is
not correct in reference to

intelligence tests ?

1) Alexander's Pass along test is a

performance test.

2) Verbal test

individual or group.

can be either

3) Illiterate people cannot do

performance test.

4) In non-verbal tests intelligence
is measured through pictures

and figures.

P.T.O.



[8/A]

15. frfefaa & & d9- JH e & 15. Which of the following pair is not

ProTmar g@ Rrsid & o g@ ® correct regarding elements of
dd T 3% AOM P dey § TR intelligence and their dimension,
Ter %? under the Three Dimensional

Intelligence theory of Guilford ?

Elements of Dimension
g&&' % @ HEH Intelligence
1) IHE IS 1) Unit Product
2) G fspar 2) Cognition Operation
3) Hediw fspar 3) Evaluation Operation
4) gy ey 4) Relations Content

16. g & @ @9-d@ 9@ df=a 16. Which one of the following is not a

AR gRehoT Hl TqE fRIver 78 key feature of child centred

g7 learning approach ?

1) GefE dEe & e 1) Meaningful learning

opportunities

2) UHd [T qr 2) Single learning pathway

3) €ad ‘1@1’4’7'[ 3) Continuous assessment

4) ™ fareror |fdT| 4) Accessible learning settings
17. g0 % SFJAR, JeOTes dE @ 17. According to Bandura, which is not

HV-G SraHeeT ke 78 & ? the interrelated processes of

observational learning ?

1) SA9YMEIHS BIEDIY 1) Attentional Processes

2) gIUMHD BIEDIY 2) Retentional Processes

3) IXOT® yfshamd 3) Motivational Processes

4) LDIEEI e EIY 4) Conjunctional Processes

[ Level-3/1311]



19.

20.

21.

4) T HIE (3T5H) qeH

e B B £ o R R G
PINT B AFE Hl TATIT B & ¢
1) eagar 2) feenter
3) fewifrmr  4) fedifmfemn

e AT | 1 A e M e et e
UrEl ofaeenet & @@ W B T
FifoTT

1) gEEen — i ggEEeEr -
AR - EEeEr -
SEEIT-2CI)|

2) TEEE — FEEEe — [T
TYNERT  —  SERETEel —
RCICEl]

3) gEEE — TEERT — AT
TONEE - S Ee -
SEEIEI L]

4) EFFEEl - EEEr -
qEEe — SEAEgEE — T
PEIEICII]
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18.

19.

20.

21.

[9/A]

According to Bandura's Social
Learning theory, what is it called
when a person learns the same
behaviour by observing and
repeating the behaviour of others ?
1) Adaptation

2) Self-observation

3) Modeling

4) Efficacy expectation

Which sub-component is not included
in componential intelligence under
the Sternberg Triarchic Theory ?

1) Meta component

2) Experimental component

3) Performance component

4) Knowledge acquisition component

A learning disability that affects the
acquisition of arithmetical skill is :
1) Dyscalculia 2) Dysgraphia
3) Dyslexia 4) Dysmagnisia
Choose the correct sequence of
the five stages of Freud's Psycho-
sexual development theory :

1) Oral stage — Phallic stage —
Latency stage — Anal stage —
Genital stage

2) Anal stage — Latency stage —
Phallic stage — Genital stage
— Oral stage

3) Oral stage — Anal stage —
Phallic stage — Latency stage
— Genital stage

4) Latency stage — Anal stage —
Oral stage — Genital stage —
Phallic stage

P.T.O.



[10/A]

22.

23.

24.

YaaE & e omEHE oM
SEITH & TERJNHT H HI-A1 FHIiTh
9 G H Haifds guad T ?

1) HHFITH

2) focifea

3) T&d

4) ULH

e & s O ’Meid @
e omen H oomd  Riew qwn
AT I &HaT g 8 St
g7

1) G-

2) Yd-GHAS

3) Yai-HishareTeh

4) NenRe-giharEs

yiqemanen foenf & fow freefoRea

T q g-a ARE e 787 B S
e ?

1) @ Uode dF & G

2) @I
3) YRS [Rreror
4) Gade HEHH

[ Level-3/1311]

22.

23.

24.

According to Pavlov's Classical
Conditioning theory of learning,
which
presentation  of

temporal sequence

natural and
conditioned stimuli will most affect
learning ?

1) Simultaneous
2) Delay
3) Trace

4) Backward

In which stage of Piaget's Cognitive

Development theory does the

ability of abstract thinking and
generalization develop ?

1) Sensory motor
2) Pre-operational
3) Concrete-operational

4) Formal operational

Which of the following educational
arrangements shouldn't be made
for talented students ?

1) Opportunities for independent
project work

2) Acceleration
3) Remedial teaching

4) Enrichment program



25.

26.

21.

frefofeg & ¥ 9-a1 gu@sh fwem
H TF sid 78 8§ 7

1) TRl & RS

2) T @ f=ia

3) fafaerr &1 S F9M @l Rsid
4) e 3 AR @ fEia
fr=ifefeg & @ -1 dO& Jgfas

Rreraiell & ogaR Reor & gweq
7&f o ?

1) foeniEl &1 s=1 998

2) JaRTH R

3) UIgIshH H R

4) ToEiEl @ emaneT & FH

fafare  oTagmatel  d = @
AEEN B T & H Jehm
eI & g 8 S

1) &1 9599 &% [9aed | 9997 &+

2) gau g gREmd wem B

3) I AT SMETHar B TEAI
T eI § Sl TG

4) I HAAWEF HeEdl YAl TEH
BT
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25.

26.

21.

[11/A]

Which one of the following is not a
principle of inclusive education ?

1) Principle of segregation
2) Principle of cooperation
3) Principle of celebrating diversity

4) Principle of right to education

Which of the following way does
not support the teaching according
to individual differences ?

1) Large group of students
2) Individualized instruction
3) Curriculum adaptation

4) Knowledge of student's abilities

Which is not a role of educational
institutions in addressing the needs
of children with special need ?

1) Admission to school without
discrimination

2) Provide
infrastructural facilities

accessible

3) Identify their special needs

and exclude them from
mainstreaming
4) Provide necessary support
services
P.T.O.



[12/A]

28. fr=fafad & 9 d9-91 &9 e &

29.

30.

g § o 78 B ?

1) [9FE IREES T ST Hw
3EE B

2) URR & & g a1 a6l
foeprg atfres iR 2 B

3) fomm foX @ W i Rsm & om
T Bl

4) fopE =g o ¥ B # R
ol Bl

oL e & Bemrd Reia has
T ufquifed fohar ar ?

1) Piftey, W wd Rewnas
2) WX T forent

3) FHBAT TG &R

4) odel, SfeE Td g

“HMIHTT H o1 & g gee
¥ gRYFadr ST | & I8
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1) S SE
2) e
3) R
4) TS

28.

29.

30.

Which of the following statement is

not correct in context of

development ?

1) Development is the product of

maturation and learning.

2) Later development is more

critical than early development.

3) Development proceeds from
head to foot.

4) Development proceeds from
central axis to extremities.

The three dimensional model of

the inclusive education

propounded by whom ?

1) Giriffith, Cooper and Ringlaben
2) Gartuer and Lipsky

3) Kauffman and Hallahan

4) Levenski, Davis and Hooper

"Socialization means attaining of
maturity in social relationships."
This definition of socialization is
given by whom ?

1) John Dewey

2) Garret

3) Sorenson

4) Hurlock

[ Level-3/1311]
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31.

32.

33.

34.

fqQwer & deg & dHi-ar @é gatad

7ET T 7

1) ARG - |5 9 i &L

2) Ui - fAueT @ IawEe

3) UREH - JUrErE Qe

4) Y - G § WHq HEaEs
Ell

forg foecy # =-g &1 TE 7Y AT
78 5 ?

1) SEf - @, 9 - e

2) WY - g, 79 - gEA

3) W - T[«ll, AT - Sl
4) THI - T, g - |

HI-91 H @ 7T © 7
1) g - d 9=
2) HE® - TGHd 9=
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1) FUEE = FI + o6

2) I = aar + ST

3) AMHIN = T + 0

4) TgH = Y + A

[ Level-3/1311]

35.

36.

31.

38.

fp faheq & TR W Sl
THE B ISET 78 & °

1) S, faEe
2) dHsard, RS
3) YA, HarE
4) UERR, qgqufa

frg faeq &1 = ‘o ITEd A
T 7&f = ?

1) AN

2) it

3) I

4) IFER

e # 9 e 9w @ 9= foeee
gt | fafa € °
1) edtad, siferEr
2) ST, FHHET
3) Regd@R, ST

4) R, TNl

EaE 9|l ® g9g ¥ -
fereq ofgfaT @ °

1) I=A1 - fEART, gy, wede
2) &S - G, guH, HaT

3) T=A - TNEN, JAge, QU
4) T - FERAICH], ST, YR

P.T.O.
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41.
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43.
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45.
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[ Level-3/1311]



Si3sft / ENGLISH
Direction : Answer the following questions by selecting the most appropriate option.

[15/A]

46.

41.

48.

49.

Fill in the blank with the correct
option :

Note it down ........... you should
forget it.
1) that 2) Dbecause of

3) till 4) lest

Choose the correct option that
gives the meaning of the given
idiom :
Spill the beans
1) increase work
2) face a greatloss
3) toleak asecret
4) segregate

Fill in the blank with the correct
option :

The Pak army turned hostile .........
ISIS.
1) to
3) at

2) for
4) with

Choose the correct passive of the
given sentence :

Please give me some more time.

1) Some more time might please
be given to me.

2) Some more time may please
be given to me.

3) Some more time could please
be given to him.

4) Some more time should please
be given to him.

[ Level-3/1311]

50.

51.

52.

Which of the following options
express the correct meaning of the
sentence given below ?

No sooner did I reach the college
than the bell rang.

1) The sooner I reached the
college the earlier the bell
rings.

2) I reached the college and the
bell was rang after.

3) Although I reached the college
the bell began to ring.

4) As soon as I reached the
college, the bell rang.

Change the narration :

He said, "What a charming sight !"

1) He exclaimed with joy that it
was a very charming sight.

2) He exclaimed with joy that
what a charming sight it is !

3) He told with joy that that is a
charming sight.

4) He said to me what a charming
sight it is !

Fill in the blank with the correct
form of the verb :

| a lot of calls today.
1) had have
2) hashad
3) have had
4) had had
P.T.O.



[16/A]

53.

54.

55.

56.

Which of the following sentences is

the correct option to express a

probable condition ?

1) If I were a bird, I would fly to
you.

2) If you touch a live wire, you
will get a shock.

3) If you will read this book, you
will learn grammar.

4) IfI had reached in time, I could
have saved her.

Choose the part of the sentence
that is grammatically incorrect :

He thought / he will be able to do /

A B

whatever he wanted / with his job.
C D

1) A 2) B

3) C 4) D

Choose the part of the sentence
that is grammatically incorrect :

The Jews were / most reluctant /

A B
to contribute / in the Palestinian
cause.
C D
1) A 2) B
3) C 4) D

The word 'slither' means :
1) lick
3) hinder

2) venomous
4) slide

51.

58.

59.

60.

Fill in the blank with the correct
form of verb :

WhenIlast ............. her, she was
deeply involved in debt.

1) have met 2) met

3) has met 4) did met

Fill in the blank with the correct
option :

How did the thief ...... the padlock.
1) open

2) opened

3) had opened

4) had been opening

Fill in the blank with the correct
'Modal Auxiliary' :

............. you mind lending me
your pen ? (Request)

1) Should 2) Ought

3) Would 4) Must

Arrange the following jumbled
options in the correct order and
then choose the correct option :

(A) is heartening
(B) is going abroad
(C) the news

(D) that she

1) C,D,B,A

2) D,AC,B

3) D,C,B,A

4) D,C,A,B

[ Level-3/1311]
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fraer : fFefafad gl & SR 39 & e @9d S faeed g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

& A U9 X & 90 IR Sa7 f&am
# R oAl Je F@ @l ©, ol
SHS 19 B H R B

1) SI-gd
2) UltEH

3) T
4) TTR-UIRTH

Th T 20 I g R AR @ e
¥ uF gue # qur I g0 H@ AN @
oot s & 2 9@ & @@ & F,
@ A I H G @ A ©

1) 10 fHt/=ver
2) 12 f®Hl/g0e
3) 13 fHl/gver
4) 15 fHl/guer

[ Level-3/1311]

61.

62.

63.

If A stands on his head with his
North,
direction will his left hand point ?

face towards in which

1) North-East
2) West

3) East

4) North-West

A boat goes 20 km downstream in
one hour and the same distance
upstream in two hours. The speed
of the boat in still water is :

1) 10km/h
2) 12km/h
3) 13km/h
4) 15km/h

In a group of 15 people, 7 read
Hindi, 8 read English, while 3 of
them read none of these two. How
many of them read Hindi and

English both ?
1) 0 2) 3

3) 4 4) 5

P.T.O.



[18/A]

64.

65.

66.

61.

TF Fem § 35 foEnii H, A & w®N
99 7d W@ B & &M IW 4
oF WM W & T C & N 37 Nl
H O AT HE, A C & @W A H
He-AT B ?

1) odf
2) 104
3) 114
4) 124

U %= e 9 § 'CEG' &l ‘TSR’
dem 'FHJ' & 'QPO' for@m <mam &, &
TH @AM AW H OIKM' & femar
SR

1) NOP

2) NOL

3) NMK

4) NML

e}l EAML ¥ fha @efe 9 91
ST Hhd § 7

1) 1

2) 2

3) 3

4) 4

uh fafa Sgye d aiie Hv

EIoEET 7:2 @&, a@ 3
TS A TSl A B

1) 7 2) 8

3) 9 4) 11

[ Level-3/1311]

64.

65.

66.

61.

In a class of 35 students, A is
placed Tth the bottom
whereas B is placed 9th from the

from

top and C is placed exactly

between these two. What is A's
position from C ?

1) 9th
2) 10th
3) 1lth
4) 12th

In a certain code language 'CEG' is
written as "TSR' and 'FH]J' is written
as 'QPO!', then in the same code
language 'IKM' is written as :

1) NOP
2) NOL
3) NMK
4) NML

How many meaningful words can
be formed with the letter EAML ?

1) 1
2) 2
3) 3
4) 4

The ratio of an interior angle to the
exterior angle of a regular polygon
is 7 : 2. The number of sides of the

polygonis:
1) 7 2) 8
3) 9 4) 11



68.

69.

10.

11.

frefafed @& S & SFET U
ST i
2,3, 10, 15, 26, ?
1) 33
2) 34
3) 35
4) 36

T A BN TF o B T 8 9T H,
T B T 1 d% P I 6 g F
W O HhaT 21 IR A A B T
Y 2 99¢ % o e & 99erq Ad
A P T¥ T &A1 C, T 9@ B &N
ST ¥ P WX AT ?

1) 2 g2 ¥

2) 2% g §

3) 3 guwe d

4) 3% g {

gfe fordr ffdea Yot & 38 « 15 = 32,
62 %91 =7 qUT 74 81 = 29 &, a
I Yot H 47+ 33 H AN B ¢

1) 40
3) 38

2) 41
4) 53

g 17 RE=R, 2002 H qFER A,
o 22 RE=R, 2004 #H HF-Ar R
oqr ?

1) ar

2) e

3) R

4) TR

[ Level-3/1311]

68.

69.

10.

11.

[19/A]

Find the next term of the following
number series :
2, 3,10, 15, 26, ?
1) 33
2) 34
3) 35
4) 36

Pipe A alone can fill a tank in 8
hours. Pipe B alone can fill it in 6
hours. If both the pipes are opened
and after 2 hours pipe A is closed,
then pipe B will fill the tank in :

1) 2hours
2) 2% hours
3) 3hours
4) 3% hours

In a certain pattern, if 38 * 15 = 32,
62 * 91 = 7 and 74 * 81 = 29, then
in the same pattern the value of
47 %« 33 is:
1) 40
3) 38

2) 41
4) 53

If it was Saturday on 17th

December, 2002, what was the day
on 22nd December, 2004 ?

1) Sunday
2) Saturday
3) Monday
4) Tuesday

P.T.O.



[20/A]

12.

13.

14,

15.

off 1 SFET T B
Z1A, X2D, V6G, T21], ?
1) R8TM
2) R8IN
3) R88P
4) R88M

x-3&, y-3& T 4x+3y =12 &N
Fftfd Brgst & awrrEa & B @

1) 2 3FE
2) 2.5 IHE
3) 3 IHE
4) 4 THE

g8 999 Bl & Fa s, e
15463 ¥ Siig< WX I IRT%S 107 §
qoiaan fasieta &1 S ©

1) 52
2) 55
3) 71
4) 16

[ Level-3/1311]

12.

13.

14.

15.

The next of the seriesis:
Z1A, X2D, V6G, T21], ?

1) R8TM

2) R8IN

3) R88P

4) R88M

In English alphabet, the number of

letters skipped in between

adjacent letters in the series is
decreased by one. Which of the
following series observes the rule ?

1) DJOTV
2) DJOSV
3) DJOSW
4) DIOSU

The radius of the circumcircle of
the triangle made by x-axis, y-axis
and 4x+3y =12 is:

1) 2unit

2) 2.5 unit

3) 3 unit

4) 4 unit

Find the least number which must
be added to 15463 so that the
resulting number is
divisible by 107 :

1) 52

2) 55

3) 71

4) 176

exactly



16.

11.

18.

19.

UMl H g H fE g H PRt
ST ST fob O [ bl e e W
SO T 20% N AH B 7
1) 1:5 2) 2:8
3) 3:5 4) 4:8

us e Ui &1 4% affe W ®
2 99 % QT ThafE &N Ud AR
& & S ©

1) 52:51
2) 52:50
3) 51:50
4) B53:50

b

U # Tl T T MR AN
R 4 e ggEg A X ST TS &
50% e fan A af & o= H Fa
21,600 YA H AN A &, ol W
T Y B R B

1) 2,400 &9

2) 3,600 &7

3) 4,000 &

4) 4,200

q¢ A, B o C H

DN
W |
oo

Th A 20% Y 9 Th a&]
SO B, A W I & 12 TW@
it | o=, df IH 10% B AT
Bl 3 a%g H HY A ©

1) 22 &1

2) 30 T

3) 36 T

4) 40 1

[ Level-3/1311]

16.

11.

18.

19.

[21/A]

What proportion of water must be
added to milk to gain 20% by
selling it at the cost price ?

1) 1:5 2) 2:5

3) 3:5 4) 4:5

The ratio of compound interest and
simple interest on a certain sum at
the rate of 4% per annum for 2
yearsis:

1) 52:51

2) 52:50

3) 51:50

4) 53:50

If A, B and C enter into a
partnership with shares in the ratio

7.4.5 After

23’5
increase his share by 50%. If the
total profit at the end of one year
be Rs. 21,600, then B's share in the
profitis:

1) Rs. 2,400

2) Rs. 3,600

3) Rs. 4,000

4) Rs. 4,200

4 months, A

A man sold an article at a loss of
20%. If he sells the article for Rs. 12
more, he would have gained 10%.
The cost price of an article is :

1) Rs.22
2) Rs. 30
3) Rs. 36
4) Rs. 40

P.T.O.



[22/A]

80.

8l1.

82.

83.

Ve )

a*+a” 1-a
+
l-a 1++/a

a2

E

1)

o]
|
—

[}
|
—

2)

3)

)
Do
—

4)

—
|
Q

Qfrerfees g g oTafed © ¢

1) o R o
2) FHoee o |

3) IR P d
4) YT ot J

fPe BRAE 9 ST, 2023 H ARC
TS %l HaE {7

1) §9 faeg

2) ey e
3) 9y RIS

4) Tifed

gRaen & efated wogaen H 9
P oE W TH SR & ?

1) o gHdiR

2) 4 JIwR g S

3) 4t Bl ST W

4) o gLoid e guarierm

[ Level-3/1311]

80.

8l.

82.

83.

Ve 1 —Va

L1-a
1++va

1 _
a’*+a

is equal to :

—
|

1)

o]
|
—

[}
|
—

2)

3)

)
Do
—

4)

—
|
Qv

Historical village Sugh is located
in:

1) Ambala district
2) Kurukshetra district
3) Yamunanagar district

4) Panchkula district

Which Haryanvi conquered Mount
Elbrus in August, 2023 ?

1) Sandeep Bishnoi
2) Rohtash Bishnoi
3) Ajay Khichad

4) Mohit

Who among the following Governors
of Haryana was an ICS officer ?

1) Shri Dharma Vir

2) Shri Muzaffar Hussain Burney
3) Shri Hari Anand Barari

4) Shri Surjit Singh Sandhawalia



[23/A]

84. TRIFMIN WU & T W< &L & 84. The evidence of Stupa of Mauryan
period is found at :
1) U H 2) Pyt § 1) Topara 2) Bhiwani
3) g H 4) ead H 3) Thanesar 4) Rohtak
85. TiaT &l @HRIE fhH "W H A 85. Geeta Jayanti Samaroh is
S 8 ? celebrated in the month of :
1) s § 2) AELY ¥ 1) Kartik 2) Margshirsh
3) oM@ T §  4) @Y H 3) Ashvin 4) Shravana
86. BRI JaT H HAYBR AEN & T&A 86. Who is the Chief Commissioner of
SIRER] B E 7 Haryana  Right to  Service
Commission ?
1) & o dio Tl 1) ShriT.C. Gupta
2) ff foog agw 2) Shri Vijay Vardhan
3) @ LEE Yoot 3) Shri Rajesh Khullar
4) A faE T 4) Shri Vikas Gupta
81. UY Mamem & TR § FefaRad 81. Read the following statements
HIE B dfeU : about Sadhu Nischal Das :
() 9E a[g & R (i) He was a Dadu's disciple.
(i) 31 T g&H FER A (ii) He compiled a book 'Vichar
Gehlerd St Hag 3 w9 7 B Sagar' which is in form of
dialogue.
HE??Q@’ & T FIMT - Choose the correct code :
1) ®ad T (i) TR 2l 1) Only statement (i) is correct.
2) Fad HIT (ii) Tt 2l 2) Only statement (ii) is correct.
3) T A P (1) M A & FAT (i) 3) Neither statement (i) nor
el & statement (ii) are correct.
4) A I (@) MR (i) TE 2| 4) Both the statements (i) and (ii)
are correct.

[ Level-3/1311] P.T.O.



[24/A]

88. =RAMT ¥ RGN WoNE dx FEl Red 88. In Haryana, where the Chinkara
g7 Breeding Centre is located ?
1) feR 1) Pinjore
2) qEIUd 2) Panipat
3) TR 3) TJhajjar
4) THa= 4) Bhiwani
89. BRIM T Hedhrl ?iﬁ Td I 89. When the Haryana State Co-
foere drE o # ®AT w9 ? operative Agriculture and Rural
Development Board Ltd. was
established ?
1) S¥ad, 1967 1) January, 1967
2) WY, 1966 2) November, 1966
3) A, 1980 3) March, 1980
4) S¥Ed, 1996 4) January, 1996

90. =Emm # aRdl™ SCkll MEnfen 90. Where in Haryana, the Indian

HEI el feud ® 7 Institute of Information Technology
is located ?

1) dea 1) Sonipat

2) qHIud 2) Panipat

3) ST 3) Ambala

4) FHEA 4) Kurukshetra

[ Level-3/1311]



M-IV / PART = IV
g / COMMERCE
fraer : i gl & SR 39 & e @98 S faeke gim

Direction : Answer the following questions by selecting the most appropriate option.

[25/A]

91.

92.

93.

Ul Rafy P goe gae R
T Hl JGERIO 9T 9 STE o
i1

A o .
1) SHAMYENRE 99X

SUE e 6 Xl oTed fRE SR
3l foshl A0 ¥ S T 8 ¢

1) UR=Eg =)

2) gig =

3) URuerer e

4) GO fee

Frfoiad & & dH-8 @& offw-g-sig
ofewerr wEfy 78 ® 7

1) HEFCH

2) N A

3) s
4) TS FRmET

[ Level-3/1311]

91.

92.

93.

A condition in which information
inflow exceeds an individual's
processing capacity :

1) Informal communication

2) Formal communication

3) Accurate information

4) Information overload

The product life cycle stage in

which a product's sales start

climbing quickly is :
1) Introduction stage
2) Growth stage

3) Maturity stage

4) Saturation stage

Which one of the following is not

an off-the-job training method ?
1) Job Rotation

2) Classroom Lectures

3) Simulations

4) Vestibule Training
P.T.O.



[26/A]

94.

95.

96.

@l § T FEaER & S 9
I FAER I B ¢

1) &l El'?f H([AYehdl
2) IUAS bl SAFRAT
3) qIfek bl STasIeRd

4) €T @ SELIHAT

A arERe § gRad H T
AR Rem @ R SR i &
110

3) (1) 8iX (2) Tt
4) T q FE 7T

TF HY SM F [T B REe
SYIT T B ?

1) Alt+Fl
2) Alt+F3
3) Alt+F2

4) ESC key

[ Level-3/1311]

94.

95.

96.

To make others behave in way in

which they would not have

behaved otherwise :

1) Need of affiliation

2) Need of achievement
3) Need of power

4) Need of association

The process of monitoring and

evaluating the nature and

direction of change in the business

environment is :

1) Environmental analysis
2) Environmental scanning
3) Both (1) and (2)

4) None of these

For creating a company we use :

1) Alt+Fl
2) Alt+F3
3) Alt+F2

4) ESC key



97. ¥& @R & SuRwm w9 & wgd

98.

SUE 99 T Wel @ded 9§ db (B
9 T2 W W I o R &
e TR

1) S % SEERen
2) IR FH RN
3) RIS SFIERem
4) WHISTR [qUOF SFaeRen

TR, 9% O Si$ SXE-aXE] aH
dfed T WRRR 21 1 3P, 2023 H
% Gt @ & 99 @ X 50,000,
ae ¥ 40,000 AT ST T 30,000 Bl
S Aot @Ry T T 20,000,
3 2,000 T S T 5,000 B FH H
ST G B AT B

1) TFE T 50,000, I T 40,000,
3§ ¥ 30,000

2) TR T 20,000, IR T 2,000, S
% 5,000

3) T T 70,000, 9 T 42,000,
3§ ¥ 35,000

4) = Q Hig T

[ Level-3/1311]

91.

98.

[27/A]

The idea that consumers will not
buy enough of the firm's products
unless it undertakes a large scale

selling and promotion efforts :
1) Selling concept

2) Product concept

3) Promotion concept

4) Societal marketing concept

X, Y and Z are partners sharing

profits in equal ratio. Capital

balances of 1lst April, 2023 are X

% 50,000, Y % 40,000, Z X 30,000.

Their private assets are : X

% 20,000, YR 2,000 and Z %X 5,000.

What is the extent of their liability

in the firm ?

1) X ¥ 50,000, Y % 40,000, Z
% 30,000

2) X ¥ 20,000, Y % 2,000, Z
% 5,000

3) X % 70,000, Y % 42,000, Z
% 35,000

4) None of these

P.T.O.



[28/A]

99.

100.

T A R 7:3 ¥ @y fauii s
g SN B owH A S @ 37 R
% fou A o &t 6 @' 2/7 @ 9
q 1/7 a5 ¥ O HT 2| U, aE
qYT TS T TGT U BT

1) 7:3:3 2) 14:6:8

3) 29:11:30 4) 14:6:15

frfoiad ®emi X f9er ik -

HIT (B) : I HI3 ST oMU 3T
W T AT S Fraeel
B FHH H FEEHA el
g, @ I oI sde @
T HT TRl Bl

Tb R) : Si B AT B B IR
I8 SER S M W 37
TR g & e IEr
B B 99 a% 5 @Al
SS9 B QU THH A
T H Al

I T JAX A & T Hend AT

% oTgER g

1) AATRIA 98 € X R, A
H TqE A= B

2) ASR RGN el  AfFT R, A
B T AT TEl B

3) A 99 & W R 6A B

4) A 9EF & WY R & B

[ Level-3/1311]

99.

100.

X and Y sharing profits in the ratio
of 7 : 3 admit Z for 3/7 shares in the
new firm which he takes 2/7 from
X and 1/7 from Y. The new ratio of
X,Y and Z will be :

1) 7:3:3 2) 14:6:8
3) 29:11:30 4) 14:6:15

Consider the following statements :

Assertion (A): If a shareholder
fails to pay the
amount of one or
more calls on his
shares, the
company may
forfeit his shares.

Reason (R) : Even after the
forfeiture of
shares, that share-
holders is
responsible to
pay the amount
due from him until
the company
receives full
amount on those

shares.
Now select your answer according
to the coding scheme given below :

1) Both A and R are true and R is
the correct explanation of A.

2) Both A and R are true but R is
not the correct explanation of A.

3) Aistrue butRis false.
4) Aisfalse butRis true.



101.

102.

103.

oY AYA 4 : B qU @RA A
5:7 % AR =R @ X 8,50,000

2, O ©fH B TR

1) % 35,000
3) 23,000

2) 30,000
4) % 3,50,000

fPd & o SU-fRAXRER & T 5,000
U g3 qA IEH AHS T H
el d@r s foEr o Y '™ @
fee & T H E, e ¥ ¢

1) sfe @ I B & AT A
¥ 10,000 3186 B

2) efee @ AN ®fec & AT |
% 5,000 1% B

3) o Uaftedqi & @Rl B W A
EEESIERI

4) T q FE T

el oA (FERT) & oTEeM @
PIROT B T ©

() Tl GREe

(b) I iy & gar

(c) faferee a1 o9 Wiy

(@) IR A FA ARLYE & g
IR @ 9 & gRads

1) I (a) dad

2) ST (a) AR (b) AT

3) (a), (b) IR (c)

4) T4l (a), (b), (c) AT ()

[ Level-3/1311]

101.

102.

103.

[29/A]

Current ratio is 4 : 5 and quick
ratio is 5 : 7. If current liabilities
are I 3,50,000,
inventory is :

1) 35,000

3) 3,000

the amount of

2) 30,000
4) % 3,50,000

% 5,000 received from sub-tenant
for rent and entered correctly in
the cash book is posted to the
debit of the rent account. In the
trial balance :

1) The debit total will be greater
by 10,000 than the credit total.

2) The debit total will be greater
by 5,000 than the credit total.

3) Subject to other entries being
correct the total will agree.

4) None of these

Obsolescence of a depreciable
assets may be caused by :

(@) Technological changes

(b) Improvement in Production

method
(c) Legal or other restrictions

(d) Change in market demand for
the product or service output

1) Only (a) above
2) Both (a) and (b) above
3) (a), (b) and (c)
4) All (a), (b), (c) and (d)
P.T.O.



[30/A]

104.

105.

106.

101.

PR JRe 3 [Tvs U 99 # 3H
TepTY EQIET T R

1) SiERE A B
2) IcTs JaE
3) ST e aalar
4) I TR ATEIE

el W 9¢¢ & T o & ¢
1) @« & FEeE

2) e W Th I

3) FaHE Hl T

4) T ¥ Bz T

frefofeg & @ @H9-a1 AR A
H TIT & T ?

3) A W SAEERASA F Ui
SEESNINKI]

4) WA FGRR

Tk BlE, eI HeA Sl e
FEAE Al P SSCH™ BT
4

1) € fRd €ed
2) SNl HISH
3) fRremeft w@wes
4) XA e

[ Level-3/1311]

104.

105.

106.

101.

Money received against share

warrants is shown as :

1) Shareholders funds

2) Long term provisions

3) Other long term liabilities

4) Other current liabilities

Provision for Discount on Debtors :
1) An appropriation of profit

2) A charge on the revenue

3) An income of the business

4) None of these

Which one of the following is not a

characteristic of charismatic

leader ?
1) Vision and articulation
2) Personal risk

3) Sensitivity to follower needs

4) Conventional behaviour

A small, core organization that

outsources major business

functions is :

1) Boundary less organisation
2) Virtual organization

3) Learner organization

4) Simple organization



108.

109.

110.

TF Ged Xl o IR & e

AT S B SR SEies ok SdE
forariisTeT @ e © ¢

1) Sfed &
2) FE &
3) Afead GoE

4) IORA GEAT

fr=fafeg & @ -1 yudl g9R) 8
aer 7ef ' ?

1) B4
2) TIIHS T
3) BT & &K

4) AT

Teh JUHIT Pl IR AR TS
AR 9T & fes @1 ft@R & 7

1) T B SAER

2) YU HEDHR

3) famer At @1 SR
4) T q FE T

[ Level-3/1311]

108.

109.

110.

[31/A]

An organisation structure that

creates dual lines of authority and
combines functional and product

departmentalization is :
1) Complex structure
2) Function structure
3) Matrix structure

4) Production structure

Which one of the following is not a

barrier of effective communication ?
1) Filtering

2) Selective perception

3) Interestlevel

4) Emotions

What right does a consumer have
against unfair trade practices and

exploitation ?

1) Right to Information

2) Right to Equality

3) Right to Seek Redressal

4) None of these

P.T.O.
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111.

112.

The drive to become what a
person is capable of becoming is

called :

1) Self-actualization
2) Self-esteem

3) Self-realization

4) Self-motivating

Which of the following statement is
incorrect according to the

Consumer Protection Act ?

1) District Forum shall consist of a

lady social worker.

2) State Commission shall consist
of a person who is or has been

a judge of a High Court.

3) District Forum shall consist of

four members.

4) National Consumer Disputes
Redressal Commission shall
consist of a person who is or
has been a judge of the

Supreme Court.
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113.

114.

115.

[33/A]

Depreciation is the process of :
1) Valuation of Assets

2) Allocation of cost

3) Both (1) and (2)

4) None of these

Dividend received by other than
financial enterprise is shown in
cash flow statement under :

1) Operating Activities
2) Investing Activities
3) Financing Activities

4) General Activities

Match List-I with List-II and
select the correct answer using
codes given below the lists :

List-I List-II
(Accounting (Objects)
Standards)

(A) AS9 (i) Revenue
Recognition

(B) AS 10 (ii) Property, Plant
and Equipment

(C) AS 16 (iii) Segment
Reporting

D) AS 117 (iv) Borrowing costs

Codes :

A B C D
) (@) @) @) (@iv)
2) () (@) @) (@v)
3) (1) @) @v) (i)
4) (1) (@) @Av) (i)
P.T.O.
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116. Which of the following statement is

1117.

incorrect ?

1) Depreciation is an amortised

expenditure.

2) Stock at the end if appears in
the Trial Balance, is taken only

to the Balance Sheet.

3) Fixed costs remain relatively
unaffected in a defined period
of time.

4) TFixed assets are stated in the
Balance Sheet at their market

value.

Which of the following statement is

true ?

1) Rent paid to landlord of the
proprietors house, must be

debited to Rent Account.

2) On purchases of furniture the
amount spent on repairs should

be debited to repairs account.

3) When errors are detected after
preparation of ftrial balance,

suspense account is opened.

4) If the errors are detected after
preparing trial balance, then
all the errors are rectified

through suspense account.
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[35/A]

118. Which of the following statement is

119.

true ?

1) Accrual concept implies

accounting on Cash basis.

2) Bank Account is Real Account.

3) Ledger is a set of Accounts.

4) Accounting is concerned with
monetary and non-monetary

transaction.

Contingent liability is shown a
note below the balance sheet. This

arises out of :

1) Convention of disclosure

2) Convention of materiality

3) Convention of observance of

law

4) Convention of consistency

P.T.O.



[36/A]

120. TR X a8 &H AEER @I, 96

121.

9§ % fow 9= & Ru @ 9, © §
qdl Iell {6 & W AN 8 forn
™o J oA gara & [
Freifafad & & dF-@1 @@ @
S ?

1) -8 rar

2) -8 FEeE @

3) WH-BI FHEINN Tl

4) = Q Hig T

A S R R wE STasgarl
B WL P AU FIINGE R
wifta o&dl & R § uresE A
ARG T ©

1) IREETHR A

2) WS A A
3) URRefT Jar

4) YR e

[ Level-3/1311]

120.

121.

Partnership accounts of X and Y
were closed for the current year.
Subsequently, it was discovered
that interest on drawings was not
charged. For rectifying the error,
which of the following account will

be opened ?
1) Profit & Loss Account

2) Profit & Loss Appropriation

Account

3) Profit & Loss Adjustment

Account

4) None of these

Leader who guide or motivates
their followers in the direction of
established goals by clarifying

role and task requirements :
1) Transformational leader
2) Transactional leader

3) Situational leader

4) Authentic leader
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122.

123.

124.

[37/A]

The mental ability to analyse and

diagnose complex situation is

known as :

1) Human skill

2) Technical skill
3) Complex skill

4) Conceptual skill

Intellectual property rights include :
1) Patents

2) Trade Mark

3) Copyrights

4) All options are right

Who can check the price

fluctuations in the market by

holding back the goods when
prices fall and releasing the goods

when prices rise ?

1) Wholesaler

2) Agent

3) Retailer

4) Mercantile Agent

P.T.O.
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125.

126.

121.

128.

In which year Taylor wrote the
book 'The Principles of Scientific

Management' ?
1) 1909 2) 1911

3) 1920 4) 1901

The idea that a subordinate should
have only one supervisor to whom
he or she is directly responsible :

1) Unity of command
2) Unity of direction
3) Readiness of followers

4) Supervision

Which one of the following is not a

limitation of computerized

accounting system ?

1) Security problem

2) System failure

3) High cost of training
4) Flexible reporting

When debentures are issued as
collateral security, interest is paid
on:

1) Nominal value of debentures
2) Face value of debentures
3) Discounted value of debentures

4) No interest is paid
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129.

130.

131.

132.

[39/A]

In absence of any agreement,
partners are liable to receive
interest on loan at the rate of :

1) 6% simple interest

2) 12% simple interest

3) .50% per month simple interest

4) None of these

Joint Life Policy Account of the

partnersis:

1) Nominal Account

2) Memorandum Account
3) Assets Account

4) None of these

Favourable balance as per Pass

Book means :

1) Debit Balance in Cash Book
2) Debit Balance in Pass Book
3) Credit Balance in Cash Book

4) Credit Balance in Pass Book

At the time of dissolution a liability
takes over by partner is to be
debited to :

1) In Revaluation Account

2) In Partners Capital Account
3) In Realisation Account

4) In Cash or Bank Account

P.T.O.
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133.

134.

Which of the following statement is

correct ?

1) As per Table F rate of interest

on calls in arrear is 12%.

2) As per Table F rate of interest

on calls in advance is 10%.

3) Loss on reissue should exceed

the forfeited amount.

4) Sweat equity shares are those
which are issued to employees

and directors at a discount.

The securities premium amount

may be utilized by a company for :

1) Writing off any loss on sale of

fixed asset

2) Writing off any loss of revenue

nature

3) Writing off the expenses/

discount on issue of debentures

4) All options are right
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135. UF HI & [T B I HH 135. The appropriate sequence of the
frfafad & & dF-T1 © ? formation of a company are in the

following order :

§) Eﬁl?h, MR AT HT SR 1) Promotion, commencement of
A business and incorporation

2) Hqcifl, HHI:IR'I"I, c:b_fﬁ IREN AR 2) Promotion, incorporation,
AU AT HIAT capital subscription and

commencement of business

3) ot oM, waed, T mad eIk 3) Capital subscription,
MUY AT pIAT promotion, incorporation and

commencement of business

4) T, T ofREE, @R 4) Incorporation, capital
M T AR Jaeie subscription, commencement

of business and promotion

136. fhdl FiEa & SR § &9 IHBRI 136. A selection device used to obtain

o A & [0 SN fpar ST g in-depth information about a
T% I TR & candidate is :

1) <Y HElehlX 1) Comprehensive interview

2) dA HIEehlT 2) Stress interview

3) TG HEEhIT 3) Behavioural interview

4) G AR 4) Personal interview

[ Level-3/1311] P.T.O.
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131.

138.

139.

The socialization stage where

individuals confront the possible

dichotomy between their

organizational expectations and
reality is :

1) metamorphosis stage

2) encounter stage

3) pre-arrival stage

4) orientation

Which one of the following is not a

principle of Henri Fayol ?
1) Discipline

2) Remuneration

3) Centralization

4) Decentralization

Software and management
practices designed to serve the
from order

customer through

delivery and after sales service :
1) eCRM

2) ERP

3) E-commerce

4) EDI
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[43/A]

140. With reference to the Micro, Small,

141.

and Medium Enterprises (MSMEs)

consider the following statements :

A. This sector is the largest
employer of human resources

in India.

B. It generates more employment
opportunities per unit of
capital invested compared to

large industries.

C. These

account for

industries in India

45% of the

Industrial units in the country.

How many of the above statements

are correct ?
1) OnlyA

2) BothA&B
3) BothA&C

4) AllA,B&C

Ogives can be helpful in locating

graphically the :
1) Mean

2) Mode

3) Median

4) None of these

P.T.O.
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142.

143.

144.

The number of subordinates a

manager can efficiently and

effectively direct, is called :
1) Management

2) Centralization

3) Span of control

4) Decentralization

X Ltd. purchased a machine worth
3 2,88,000 and

debentures of ¥ 100 at a discount

in lieu issued

of 4%. The number of debentures

issued will be :
1) 2880
2) 3000
3) 2770

4) None of these

Which of the following transactions

will result into Flow of Cash ?

1) Deposited X 20,000 into bank.

2) Sale of furniture of the book
value of ¥ 7,400 at a loss of
< 900.

3) Converted < 1,00,000 9%
debentures into equity shares.

4) Withdrew cash from bank
< 25,000.
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145.

146.

[45/A]

Nature of goodwill, whose value is
the highest :

1) Ratnature

2) Catnature

3) Dog nature

4) Elephant nature

Consider the following statements :

Assertion (A): In double account
system, the final
accounts of a
company fail to
disclose the true
condition of its

assets.

Reason (R) : Because the assets
of the company
are shown at their
cost price even
when they are
completely worn

out.

Now select your answer according

to the coding scheme given below :

1) Both A and R are correct and R
is the correct explanation of A.

2) Both A and R are correct but R
is not the correct explanation
of A.

3) Aistrue butRis false.
4) Aisfalse butR is true.

P.T.O.
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When one party grants the right to
use the asset to the other party in
return for a periodic payment. It is
known as :

1) Lease financing

2) Factoring

3) Public deposits

4) Debts

On retirement or death of a
partner, assets and liabilities are
to be shown at old values for
which account to be opened is:

1) Profit & Loss Account

2) Revaluation Account

3) Memorandum Revaluation
Account

4) Realisation Account

The total of the sales book is
posted to the credit of the :

1) In debtors account

2) In sales return account

3) In purchases return account

4) None of these

A transaction involving a decrease

in debt-equity ratio and increase

in current ratio is:

1) Issue of debentures against
the purchases of fixed assets

2) Issue of equity shares for cash

3) Issue of debentures for cash

4) Redemption of preference

shares for cash

[ Level-3/1311]
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% /on completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the Room/Hall. The candidates
are allowed to take away this Question Booklet with them.
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